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R>g — R, respectively. (5% each)
1) f(t) = te*. -

2) f(t) =tsin2t.

3) f(t)=2 fot cos T sin(t — 7)dr, where 7 € R.
4) f(t) = t’sin2t.

5) f(t) = 2

L. (25 pt) Consider the system shown in the following figure, where G(s) = —=*1

R(s)+ Ys).

ﬁ?—» K G(s)

(a) Sketch the root loci for positive X values. Find the break-away points. (10 pt)
(b) Find the corresponding values of X for the break-away points. (5 pt)

Y

[. State and prove the Laplace Transform of the following function f(t):

25244543 °

(c) When the input signal R(s) is a unit step function, find the steady state error. (10 pt)
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3.(255) THE AEL—ERENRELAG  BEEEM  BEK - HEEVINEIRE L% BEM
EEEMTERVIVETNRE L TR MEREEEE L BEGEAK - EIBHIAT M
Z2NNEHBE: EEEN g | T - BEN KXy -yw®) HT - EBEEEET vid(y) -
yw(t) )dt [T ~ SNINKEST FOE L > T yw RiE s B E e 2R e E A B BRI S A 2 iy
ENE EEEEE -y AM BEREERRNUER EEEEE - 0 BIREERER L0 - *355]
AT M BV DR FEEIR SRR » B ERNRRBEIERMS HER - AR HE S ENH KR
RIRBUTER » AIE T 818 y(OE(d/dt) yORIFIZATE - (10 53)

B e A SR B SR A 9 S TR — s
BB (s + Cony2 +on2 * (1-02) = F
od=on * sqrt(1 - {*2) > o=C*on HH{ & Yy M*l g
RS - ¢ W ARG S [ v¥{(a/deyy)
B M- K- vZERERIMARM ? (7 5).* B&
W R PEAYZE Y overshoot EEB Mp=eA( - K*l(y'yW'LO)
wR/sqrt(l - (02)), 0SE< 1 % EREE '
2B » Mp RUTE > B TRER
GRENEERE > RBREEERAK 5 1
DUEE Mp=0.0948 - 438 ¢ MR yw
2 M K ~ VEESCATHEE ? (8 4)) A FEERUREZG B B. M2 HEE

4. (25%) —EIEHIRGUOTBATR » £ Cls) RIEHBBBRE - & RSB
BEfrZ5 P (unit step)E A SR -

R 1 Yis
) -, —  Cls) s’+2s+1.4 ()>'

(@) & Cfs) = KB » Hf K K—EEIEE » FE R A MAVISEEEA2E (steady
state error)&fg? (55
(b) #0(a)F3E&IE C(s) = KBF » Y(s)FREIFEAISIFE y(t) 9 overshoot F55/)
percent (%) ? (573
(c) #=TAZHT A FEREMBAEERE - IGIRISRE TR Cfs) = K/s i » A58
RASTE RSN RE » sARFER(ERER %4 (closed loop
system) IRER KVEERME? (57)
(d) ETAZEW B AR HERIES B Cls) = K(s-z)/ (spi§ » HAZEIERKE
poles 155 -2 I » B CISRRAIFRRT? (10 23) e




